
I.D.:	56451582

Pachet	piese

Data
publicarii

28.04.21 Coduri	CPV 34913000-0

Pretul
estimativ:

780,66	RON	-	780,66	RON 	 	

Descriere: Pachet	piese	1	GRESOR	M10*0	DR.H1	5.000	0.84	4.20	0.80	2	GRESOR	M10*45	COT.H2	5.000
1.68	8.40	1.60	3	GRESOR	M8*0	DR.H1	5.000	1.01	5.04	0.96	4	GRESOR	M8*45	COT.H2	5.000
1.68	8.40	1.60	5	GRESOR	M6*0	DR.H1	3.000	0.84	2.52	0.48	6	GRESOR	M6*45	COT.H2	3.000
1.68	5.04	0.96	7	CUREA	TRANSMISIE	13*1150-CT	1.000	21.01	21.01	3.99	8	ULEI	V.HIDROIL
H46	20L	2.000	115.97	231.93	44.07	9	ULEI	CAST.15W40	CRB	MULTI.	20L	1.000	256.30
256.30	48.70	10	SURUB	W	CAP	HEX.M8*35N	20.000	0.21	4.20	0.80	11	FURTUN	VALVA
MEC.PREL.SC.IMP	1.000	12.61	12.61	2.39	12	FILTRU	AER	SA10927	1.000	221.01	221.01
41.99	Pentru	informatii	suplimentare	va	stam	la	dispozitie	la	numarul	de	telefon:	0741	244
244	–	Cristina	Mail:	railex_piese@yahoo.com	Web:	www.railex.ro


